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#3E . HORIBA PA—1000
BfI:p Sv/h

X H: FR26FE3A28H (£)

= 1SR (LS IHERS) | B2tm @k asAn) | B3 (ENFEREILSE)
AlES 5cm 100cm 5cm 100cm 5cm 100cm
BIE B % 10:27 10:30 10:34 10:37 11:17 11:20
HIEE 0.085 0.072 0.087 0.087 0.085 0.088
ATEEE 0.011 -0.006 0.002 -0.010 -0.011 0.003
Mo | B4t (KE RGMHAHD) [ S5 (KB HilsEty-) | Eethm (NTTE F 3ty 4—)
HES 5cm 100cm 5cm 100cm 5cm 100cm
B E BT 10:59 11:02 11:07 11:10 11:37 11:40
BIEE 0.093 0.087 0.093 0.102 0.091 0.093
ATEEE 0.009 -0.004 -0.010 0.009 0.006 0.010
H o5 | E7ACEF BEREs-) | et A (BHMER SFHE) | FothA (E8 HEREL-)
AlES 5cm 100cm 5cm 100cm 5cm 100cm
B 7 B % 11:28 11:31 10:51 10:54 10:43 10:46
HRIEE 0.111 0.080 0.095 0.094 0.098 0.110
ATEEE 0.017 -0.009 -0.007 -0.006 -0.011 0.006
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#3E . HORIBA PA—1000
BfI:p Sv/h

EAR:EH26E38128 (k)

= S A (LS GEFR) | B2R EsadEg asBAD) | 3 R (ENFEREILSE)
AlES 5cm 100cm 5cm 100cm 5cm 100cm
B 7 B Z 13:20 13:23 13:28 13:31 14:12 14:15
BIEE 0.074 0.078 0.085 0.097 0.096 0.085
ATELE -0.010 0.002 -0.013 0.006 -0.007 -0.015
Hh oA | Eath (KE NG | EothA (KE HilssiEtos-) | S6t A (NTTE S5ty s-3)
AlES 5cm 100cm 5cm 100cm 5cm 100cm
B E R 13:53 13:56 14:02 14:05 14:23 14:26
BIEE 0.084 0.091 0.103 0.093 0.085 0.083
ATEEE 0.005 0.002 0.004 -0.003 0.003 -0.007
oA |E7HAEE #BERE ) | St (AHNTES SF %K) | BoM A GES BisREL-)
AlES 5cm 100cm 5cm 100cm 5cm 100cm
B EBFZ 14:32 14:35 13:45 13:48 13:37 13:40
BIEE 0.094 0.089 0.102 0.100 0.109 0.104
ATEtE 0.008 0.007 0.002 -0.001 0.010 -0.006




